38
i
5

P

—_

0.6 1

0.2 1

3

= m
R =

100

150 200 250

11X 4.429 Bl BIHE O RFEEE /5 (d-1)

300
BRI (1 m)

0.6

0.2

100

150 200 250

11X 4.4.30 Bl BIFE O RAEHEE /34 (d-2)

- 175 -

300
BRRRJE (e m)




38
i
5

P

1
E[]
0.8 | %
0.6 |
0.4 I
0.2 |
0 il
100 150 200 250 300
BB (1 m)
11X 4.4.31 Bl BIFE O RFEEE /5 (d-3)
1
N - = = HTR
0.8 | —
0.6
0.4 |
0.2
0 s
100 150 200 250 300
BB (1 m)

11X 4.4.32 Bl BIFE O RAEHEE /4 (d-4)

- 176 -



1 )
08 | — g
0.6
0.4
0.2

0 .

150 200 250 300 350

BRIEE( 1 m)
11X 4.4.33 B2 BIEE O RAEEEE 5534 (a-1)
1 = ]
- = HART R
08 - N —ﬁﬁ:@é
‘\
0.6
0.4 f
0.2
0
150 200 250 300 350
BIRE( 1 m)
X 4.4.34 B2 BEE O BFEE A (a-2)

- 177 -




1
0.8 AT 14
0.6
0.4
0.2

0

150 200 250 300 350

BB (u m)
11X 4.4.35 B2 BIEE O RAEEEE 534 (a-3)

1 .
0.8 AT 14
0.6
0.4
0.2 S

0 L

150 200 250 300 350

BIRE( 1 m)

X 4.4.36 B2 BEE O BRI 54 (a-4)

- 178 -



1 .
0.8 — AR
0.6
0.4 f
0.2

0

150 200 250 300 350

BB (1 m)
11X 4.4.37 B2 BIHE O RFEEE 5 (b-1)
1 ~ 1
RN AT il
0.8 il 2
0.6 |
0.4 |
0.2 +
0
150 200 250 300 350
BB (1 m)
f1%] 4.4.38 B2 BFEE D R FHE i (b-2)

- 179 -



1
08 L — AR
0.6
0.4
0.2
0
150 200 250 300 350
BIRE( 1 m)
11X 4.4.39 B2 BIHE O RFEEE /5 (b-3)
1 o
. - = - AT AT
0.8 + \‘ —%WET@A
0.6
04 | N\
0.2 \
0 I
150 200 250 300 350
BIRE( 1 m)

X 4.4.40 B2 BIEE O BEEEEE 546 (b-4)

- 180 -



1 .
- = = AT
0.8 I — itk
0.6
0.4
0.2
0 -
150 200 250 300 350
BB (1 m)
11X 4.4.41 B2 BIEE O RAESEE 5345 (c-1)
1 N ]
= = = AT
0.8 L —%‘Zﬁ?’ﬁ
0.6
0.4
0.2
0 =
150 200 250 300 350
BIRE( 1 m)

X 4.4.42 B2 BEE O BRI 54 (c-2)

- 181 -



1 ,
0.8 — AR
0.6
0.4
0.2

0

150 200 250 300 350

BB (u m)
11X 4.4.43 B2 BIEE O RAESEE 5345 (c-3)

1 .
0.8 — itk
0.6
0.4
0.2

0

150 200 250 300 350

BIRE( 1 m)

X 4.4.44 B2 BEE O BRI 545 (c-4)

- 182 -




1 .
- = AR
08 I — g
0.6
0.4 f
0.2
0 -
150 200 250 300 350
BB (1 m)
11X 4.4.45 B2 BIHE O RFEEE /A (d-1)
1 ]
- AT
0.6
0.4 f
0.2
0 I
150 200 250 300 350
BIRE( 1 m)
11X 4.4.46 B2 BIFIE O RFELEE 5370 (d-2)

- 183 -




1 1
0.8 — AR
0.6
0.4
0.2

0 [

150 200 250 300 350

BIRE( 1 m)
11X 4.4.47 B2 BIFEE O RFEEE /3 (d-3)
1 .
- = = HRAT AT

08 L — itk
0.6
0.4
0.2

A\

0 |
150 200 250 300 350
BIRE( 1 m)

- 184 -

X 4.4.48 B2 BIEE O BREMEEE 546 (d-4)



HIP 2
1 ~ s e > 2
A = = AT A
0.8 | ' — W%
0.6
A )
0.4 s
0.2 + N
\3
0
150 200 250 300 350
BIRIE(u m)
7121 4.4.49 AB1 BIRE O RAFESEEE 7347 (a-1)
SRR
1 ]
\\\ = = AT
0.8 Hifir
0.6
0.4
0.2
0
150 200 250 300 350
BRIFEE (1 m)

£11X1 4.4.50  AB1 BRE 0O R FEHEE /347 (a-2)

- 185 -



P
il
= &
s

0.8 A4
0.6
0.4
0.2
0
150 200 250 350
BIEIE(u m)
11X 4.4.51 AB1 BRE O RFEHEE /5347 (a-3)
SRR
1 ]
S AnT A
0.8 A4
0.6
0.4
0.2
0 L
150 200 250 300 350
BRIFEE (1 m)

1121 4.4.52  AB1 BIRE 0 R FEHAE /347 (a-4)

- 186 -



34

3

= = = TR
— A%
150 200 250 300 350
BRIEE( 1 m)
11X 4.4.53 AB1 BIRE O RFEHEE /5347 (b-1)
1 ]
ar Al
0.8 RGeS
0.6 |
0.4 F
0.2 F
0
150 200 250 300 350
= (1 m)
11X 4.4.54  AB1 BRIE O RFEHEFE 55347 (b-2)

- 187 -




38
i
5

P

1
08 I — A%
0.6
0.4 f
0.2
0
150 200 250 300 350
BRIEE( 1 m)
f11%] 4.4.55 AB1 BIEIE O SRR 5534 (b-3)
1 Y
0.8 [ E— L
0.6
0.4
0.2
0 I
150 200 250 300 350
BB (1 m)

121 4.4.56  AB1 BRJE O RFEHEFE 55347 (b-4)

- 188 -




38
i
=

P

1 |
0.8 f — A tE
0.6
0.4
0.2

0 A

150 200 250 300 350

BRIEE( 1 m)
11X 4.4.57 AB1 BRSO RFEHE 5534 (c-1)

1 - ]
0.8 | — W%
0.6
0.4
0.2

0 I

150 200 250 300 350

BB (1 m)

11X 4.4.58  AB1 BIRE 0 B FEHAE /347 (c-2)

- 189 -





